

Individual Combined Scores

**Collegiate Shoot-Out - Tier I - Men
Tier 1 USBC**

**12/20/2025 - 12/21/2025
Las Vegas, NV**



Men's Division

Cert. No: 4268

Rank	Bowler	Bowler ID	Team	Game 1	Game 2	Game 3	Game 4	Game 5	Individual Total	Game Bowled	Tourn. Ave.
1	Carter Street	7914-45013	Wichita State University V	248	206	214	265	259	1192	5	238.4
2	Kendric Siders	11-470037	St. Ambrose University V	160	277	278	247	226	1188	5	237.6
3	Jalen Pfaff	20-53104	St. Francis (IL) ,University Of V	295	211	243	215	221	1185	5	237
4	Louis Pisano	8813-4824	Wisc.-Whitewater V	245	209	248	224	254	1180	5	236
5	Michael McCuen	17-78598	Oregon State University V	227	258	227	232	234	1178	5	235.6
6	Micah Voorhis	11-673672	Trine University V	250	278	237	186	214	1165	5	233
7	Pedro Diaz Gonzalez	11-454483	Baker University V	227	211	230	232	265	1165	5	233
8	Zach Andresen	11-250150	Mount Mercy University V	226	280	266	192	201	1165	5	233
9	Louis Shontz	20-27296	Wartburg College V	235	199	249	232	249	1164	5	232.8
10	Garrett Andrus	18-10453	Wichita State University V	233	216	237	244	226	1156	5	231.2
11	Laurynas Narusis	24-14461	Webber International University V	245	224	203	256	216	1144	5	228.8
12	Trevor Anifer	7914-10494	St. Francis (IL) ,University Of V	221	250	269	224	179	1143	5	228.6
13	Coltyn Silva	22-15518	Baker University JV1	221	209	210	232	259	1131	5	226.2
14	Mateo Gordienko	19-68020	Oklahoma Christian University V	258	247	171	222	227	1125	5	225
15	Kevin Magnuson	11-491366	St. Ambrose University V	213	255	227	202	224	1121	5	224.2
16	Chance McLane	11-507400	Milligan University V	233	236	239	213	198	1119	5	223.8
17	Ashton Angel	11-774369	Emmanuel University V	209	256	198	216	238	1117	5	223.4
18	Zachary Abbott	7914-1019	Capital University V	223	268	243	196	186	1116	5	223.2
19	Ethan Diehl	7914-15577	Kansas State University V	233	259	198	179	245	1114	5	222.8
20	Tyler Pedersen	20-39060	Saint Xavier University V	236	268	204	200	204	1112	5	222.4
21	Nate VanderBeek	17-56797	Wisc.-Whitewater V	280	211	187	252	180	1110	5	222
22	Braden Mallasch	19-15381	Wichita State University V	234	219	199	212	239	1103	5	220.6
23	Riley Speer	11-651201	Southern Nazarene University V	225	237	214	224	203	1103	5	220.6
24	Garrett Nelson	15-146872	Emmanuel University V	159	234	269	189	248	1099	5	219.8
25	Nate Trentler	11-696679	Calumet College Of St. Joseph V	236	194	236	237	196	1099	5	219.8
26	Zachary Smullen	11-659944	Newman University V	198	230	240	243	182	1093	5	218.6
27	Talon Newton	20-25290	Muskingum University V	207	215	232	203	234	1091	5	218.2
28	Spencer Foutz	17-52336	Tennessee Wesleyan University V	206	224	257	201	202	1090	5	218
29	Dawson Peterson	11-168492	Wisc.-Whitewater V	236	244	203	168	235	1086	5	217.2
30	Blake Walsh	24-1217	Mount Mercy University V	222	225	223	197	215	1082	5	216.4
31	Josh Hammons	11-648844	Wichita State University V	212	212	202	236	219	1081	5	216.2
32	Kyle Drazil	11-745197	Northwestern Ohio ,University Of V	213	208	181	231	248	1081	5	216.2
33	Michael Pupin	21-83207	Rochester University V	228	214	172	247	214	1075	5	215
34	Dylan McCauley	7914-12940	Coe College V	224	257	191	221	181	1074	5	214.8
35	Tyler Tran	17-60468	San Jose State University V	182	235	212	225	216	1070	5	214
36	Alex Linnenbrink	11-241326	Calumet College Of St. Joseph V	199	226	219	226	199	1069	5	213.8
37	Charlie Hunter	19-4456	Missouri Baptist University V	197	278	201	189	204	1069	5	213.8
38	Christopher Bald	7914-10638	St. Francis (IL) ,University Of V	248	248	199	172	199	1066	5	213.2
39	Brody Wildenmann	6575-1035	Muskingum University V	182	227	158	236	257	1060	5	212
40	Nicholas Caruso	20-56418	Ohio State University V	201	205	265	193	194	1058	5	211.6
41	Leo Voss	7914-7413	Wisc.-Whitewater V	211	240	242	177	187	1057	5	211.4
42	Jacob Terpenning	11-529549	Wittenberg University V	246	257	181	178	194	1056	5	211.2
43	Ryan Julian	22-79856	Baker University V	254	193	258	148	203	1056	5	211.2
44	Sean Jenkins	17-64188	Milligan University V	224	226	174	247	180	1051	5	210.2
45	Nathan Tidball	18-82311	Grand Canyon University JV1	178	233	219	217	203	1050	5	210
46	Daryus Alo	11-521511	Newman University V	225	195	192	202	233	1047	5	209.4
47	Edison Yuen	22-78818	Nevada-Las Vegas ,University Of V	212	177	254	194	210	1047	5	209.4
48	Jacob Hendricks	22-9904	Texas A&M University V	232	194	229	190	202	1047	5	209.4
49	Jake Lau	1635-3536929	Trine University V	204	215	189	226	213	1047	5	209.4
50	Payton White	21-34988	Ohio State University V	201	183	245	256	162	1047	5	209.4
51	Devon Cherry	16-111576	Davenport University V	177	201	225	204	239	1046	5	209.2
52	William (Alex) Davis	7914-40344	Tennessee Wesleyan University V	183	244	227	191	201	1046	5	209.2
53	Jovan Mercado	11-462608	Grand Canyon University V	167	234	216	214	214	1045	5	209
54	Kaden Kuusela	11-292690	Hastings College V	201	196	195	205	248	1045	5	209
55	Jayden Kadooka	11-564680	Southern Nazarene University V	222	212	212	208	190	1044	5	208.8
56	Andrew Merrell	18-86090	Grand Canyon University V	233	206	225	203	176	1043	5	208.6
57	Caelan Guthrie	17-40782	Muskingum University V	182	225	194	231	211	1043	5	208.6
58	Evan McDermott	11-317891	Oklahoma Christian University V	182	255	189	216	201	1043	5	208.6
59	Garrett Smith	19-32131	Dallas Baptist University V	197	214	175	200	257	1043	5	208.6
60	Jaxon Rickey	11-268558	Northwestern Ohio ,University Of V	204	244	183	210	202	1043	5	208.6
61	Luis Marcelo	7914-55970	Tennessee Wesleyan University V	269	233	175	198	168	1043	5	208.6
62	Michael Weyl	5617-4105	Webber International University V	202	178	210	206	247	1043	5	208.6
63	Nathan Bassford	11-611549	McKendree University V	201	198	236	180	226	1041	5	208.2
64	Anthony Morella	16-129865	Hastings College V	212	234	210	183	201	1040	5	208
65	Aubin Williams	20-10035	Indiana Wesleyan University V	198	189	193	182	277	1039	5	207.8
66	William Jewell	11-478747	Texas-San Antonio ,University Of V	152	216	202	253	214	1037	5	207.4
67	Braden Colaire	21-2122	Savannah College Of Art And Design-	207	215	201	217	194	1034	5	206.8

68	Liam Hardman	11-383132	Newman University V	176	156	276	188	238	1034	5	206.8
69	Silas Moats	11-511250	Missouri Baptist University V	176	237	199	210	210	1032	5	206.4
70	Tavino Perez	7823-331014	Nevada-Las Vegas ,University Of V	200	204	188	203	235	1030	5	206
71	Bryce Massingill	11-521916	Northwestern Ohio ,University Of V	256	148	224	206	195	1029	5	205.8
72	Cameron Compton	16-32593	Tennessee Wesleyan University V	237	199	186	184	222	1028	5	205.6
73	Anthony Scharton	7914-37555	Grand Canyon University JV1	220	195	216	200	196	1027	5	205.4
74	Carter Boley	15-28200	William Penn University V	195	211	166	265	190	1027	5	205.4
75	Daniel Esguerra	18-11739	Saint Xavier University V	214	222	204	164	223	1027	5	205.4
76	Hayden Hale	19-23075	Trine University V	185	217	203	223	197	1025	5	205
77	Ricardo Avila	15-25705	Kansas ,University Of V	212	170	200	234	209	1025	5	205
78	Ryan Ching	17-73945	Cleary University V	162	226	202	225	209	1024	5	204.8
79	Gabe Castro	16-171759	Purdue University V	257	211	180	185	190	1023	5	204.6
80	Ryder Fleming	21-48766	Wartburg College V	172	199	225	232	195	1023	5	204.6
81	Jack Pearson	18-68149	Midland University V	208	202	210	236	166	1022	5	204.4
82	Anthony Hernandez	6238-1210	Ottawa University (KS) V	183	223	170	189	256	1021	5	204.2
83	Bryson Hicks	20-34790	Missouri Baptist University V	211	186	199	234	190	1020	5	204
84	Jackson McRae	18-52839	Milligan University V	172	253	177	202	216	1020	5	204
85	Juan (JD) Rodriguez	19-27434	Texas-San Antonio ,University Of V	176	256	178	178	229	1017	5	203.4
86	Bobby Habetler	11-313025	Saint Xavier University V	193	180	217	202	224	1016	5	203.2
87	John Clinton	11-431827	Ohio State University V	159	232	222	207	195	1015	5	203
88	Noah Raleigh-Turner	11-389963	Dallas Baptist University V	166	194	214	235	205	1014	5	202.8
89	Noah Akiona	15-8308	Newman University V	206	214	194	188	211	1013	5	202.6
90	Ryland Prokopec	19-29945	Wartburg College V	177	204	224	233	175	1013	5	202.6
91	Caleb Asato	22-84577	Nevada-Las Vegas ,University Of V	192	221	202	170	227	1012	5	202.4
92	Nolan Pepper	18-53305	Midland University V	204	189	162	268	188	1011	5	202.2
93	Benicio Lara	21-47554	Oklahoma Christian University V	175	206	229	197	196	1003	5	200.6
94	Logan Egnoski	19-21550	Wisc.-Oshkosh V	190	188	234	213	178	1003	5	200.6
95	Jack Schroeder	17-44303	Wisc.-Oshkosh V	211	214	214	163	200	1002	5	200.4
96	Landon Connell	16-4568	Oklahoma Christian University V	212	232	221	189	148	1002	5	200.4
97	Michael Kruse	11-254922	Morningside University V	233	172	212	177	208	1002	5	200.4
98	Harper Schmidt	15-167235	Arizona State University V	199	211	192	204	194	1000	5	200
99	Owen Strazdas	22-14282	Nebraska ,University Of V	210	185	207	217	181	1000	5	200
100	Brian Huynh	20-24335	Savannah College Of Art And Design-	218	223	198	179	176	994	5	198.8
101	Aliyas Sargento	11-571975	Arizona State University V	185	184	211	213	198	991	5	198.2
102	Brandon Handog	16-118877	Southern Nazarene University V	182	242	193	174	200	991	5	198.2
103	Alex Macnab	22-51241	Oregon State University V	245	220	216	169	136	986	5	197.2
104	Adam Driver	11-241906	Tennessee Wesleyan University V	231	231	190	162	171	985	5	197
105	Ashlee Murawski	11-560303	Nebraska ,University Of V	211	227	202	167	176	983	5	196.6
106	David Lutchka	18-35976	Drury University V	199	189	213	178	204	983	5	196.6
107	Ethan Parker	19-23085	Cleary University V	174	181	178	243	206	982	5	196.4
108	Jayden Briggs	16-67827	Arizona State University V	200	182	245	201	154	982	5	196.4
109	Sailor Cope	21-83922	Rio Grande ,University Of V	183	175	174	234	215	981	5	196.2
110	Zachary Oliver-Davis	11-522655	California State University-Fresno V	188	169	194	176	254	981	5	196.2
111	Bryce Lewin	11-756455	Ohio State University V	201	190	190	199	200	980	5	196
112	Camden Caswell	11-285723	Davenport University V	204	215	182	181	198	980	5	196
113	Cephus Beatty	11-611507	Midland University V	168	212	213	185	202	980	5	196
114	Cesar Padilla	16-124207	Arizona State University V	153	226	193	200	204	976	5	195.2
115	Matthew Richards	21-31907	Oklahoma State University V	220	232	182	153	189	976	5	195.2
116	Gavin Unger	19-29971	William Penn University V	235	193	191	188	166	973	5	194.6
117	Wyatt Walker	20-10043	Indiana Wesleyan University V	180	203	190	195	205	973	5	194.6
118	Briar Holt	22-73274	Drury University V	219	200	163	165	224	971	5	194.2
119	Caleb Martinez	21-71002	Texas-San Antonio ,University Of V	213	183	210	159	202	967	5	193.4
120	Nick Lewis	23-17700	California-Davis ,University Of V	203	254	193	150	166	966	5	193.2
121	Ryan Kaufman	11-69054	Waldorf University V	202	178	194	170	222	966	5	193.2
122	Andrew Clark	18-78493	Cleary University V	224	159	168	222	192	965	5	193
123	Dominic Montoya	21-24662	Nevada-Las Vegas ,University Of V	204	225	198	167	169	963	5	192.6
124	Logan Glinka	11-646466	Baker University JV1	201	199	192	216	155	963	5	192.6
125	Baylee Becker	11-38244	Capital University V	191	171	245	189	166	962	5	192.4
126	Tristan Bierman	21-46038	Washington, University Of V	216	204	225	169	147	961	5	192.2
127	Joshua Wilson	21-25620	Savannah College Of Art And Design-	213	159	210	203	174	959	5	191.8
128	David Wiseley	7914-25772	Grand Canyon University V	203	226	161	184	183	957	5	191.4
129	David Hart	20-40560	Ohio State University V	175	179	194	202	205	955	5	191
130	William Patterson	22-71623	Texas A&M University V	202	225	171	183	173	954	5	190.8
131	Michael Marts	15-189043	St. Vincent College JV1	221	159	220	183	170	953	5	190.6
132	Kaeden White	18-96547	Midland University V	193	227	173	181	177	951	5	190.2
133	Nathaniel Wilkins	18-14376	Nevada-Las Vegas ,University Of JV1	204	204	200	169	173	950	5	190
134	Dominic Ortiz	17-73023	California State University-Fresno V	180	191	203	191	181	946	5	189.2
135	Caleb Kornosky	21-4217	Capital University V	168	216	190	192	179	945	5	189
136	Paul Stigall	17-28371	Baker University V	192	190	188	183	190	943	5	188.6
137	Tyler Reeves	19-85021	Wartburg College V	191	203	213	177	159	943	5	188.6
138	Noah Michelson	23-17707	California-Davis ,University Of V	200	190	212	183	155	940	5	188
139	Joseph Walgenbach	22-1354	Waldorf University V	205	174	173	231	155	938	5	187.6
140	Keanu Villanueva	22-37650	San Jose State University V	195	177	181	170	212	935	5	187
141	Aidan Piet	11-575136	William Penn University V	187	176	181	217	173	934	5	186.8
142	Krew Richter	20-59559	Weber State University V	203	188	168	202	173	934	5	186.8
143	Darron Spak	22-4962	Ottawa University (KS) V	0	267	210	244	212	933	4	233.3
144	Bryce Jenkins	21-86389	Davenport University JV1	205	215	206	146	159	931	5	186.2
145	Tyler Cain	7825-558595	Arizona State University JV1	154	225	156	190	201	926	5	185.2
146	Emerson Horning	21-65205	Kansas State University V	214	203	180	179	148	924	5	184.8
147	Daniel Gonzales	22-5652	California State University-Fullerton V	217	161	221	173	149	921	5	184.2

148	Dominic Catanese	19-40048	Rio Grande ,University Of V	196	195	216	154	159	920	5	184
149	Koen Parungao	5495-30159	San Jose State University V	198	161	192	175	194	920	5	184
150	Keylin Stewart	23-25093	West Texas A&M University V	195	211	169	155	189	919	5	183.8
151	Rylan Gutierrez	24-38721	California-Davis ,University Of JV1	156	218	155	222	168	919	5	183.8
152	Gracie Dawson	16-27150	Louisiana State University V	162	220	180	172	184	918	5	183.6
153	Clinton Harris	21-78147	Rochester University V	180	180	199	210	145	914	5	182.8
154	Nathan Din	11-732973	Texas-San Antonio ,University Of V	189	160	202	183	178	912	5	182.4
155	Vaughn VanLiew	23-56896	West Texas A&M University V	212	160	166	172	201	911	5	182.2
156	Kieryn Knox	11-340195	Savannah College Of Art And Design-	159	211	173	199	167	909	5	181.8
157	Tyler Johnson	19-32016	Texas A&M University V	186	136	229	184	171	906	5	181.2
158	Michael Mullaney	19-43973	St. Vincent College V	178	183	158	128	258	905	5	181
159	Brent Moody	20-30039	Dallas Baptist University V	222	191	168	185	138	904	5	180.8
160	Carter Reitz	7824-485994	Ottawa University (AZ) V	177	185	193	170	179	904	5	180.8
161	Ethan Licht	11-427212	William Penn University V	143	177	191	216	171	898	5	179.6
162	Gabe Hernandez	25-23714	California-Davis ,University Of JV1	145	194	217	132	210	898	5	179.6
163	Jakin Cantor	24-18469	California-Davis ,University Of V	179	178	138	209	192	896	5	179.2
164	Noah Ward	7914-14989	Waldorf University V	169	199	178	183	166	895	5	179
165	Jason Laba	15-185553	Saint Xavier University V	245	224	265	158	0	892	4	223
166	Zachariah Gunby	20-57319	Kansas ,University Of V	201	177	186	155	171	890	5	178
167	Cameron FitzHenry	8713-5840	Texas A&M University V	142	177	182	202	185	888	5	177.6
168	Jacob Bockstie	18-73293	Mount Mercy University V	257	228	236	166	0	887	4	221.8
169	Skyler Broussard	15-130228	Washington, University Of V	193	178	136	205	175	887	5	177.4
170	Wesley Cunningham	11-190649	Grand Canyon University JV1	168	196	177	174	171	886	5	177.2
171	Michell Biermann	22-62801	Oregon State University V	143	183	220	149	190	885	5	177
172	Travis Fontke	8970-200599	California-Davis ,University Of V	190	190	182	154	169	885	5	177
173	Brett Stockwell	22-95886	Kansas State University V	179	183	168	155	197	882	5	176.4
174	Ryan Schuck	17-17213	St. Vincent College V	154	205	199	189	134	881	5	176.2
175	Noah Kottelich	25-15731	St. Vincent College V	147	190	205	164	174	880	5	176
176	Christopher Gong	21-1070	San Jose State University JV1	161	192	179	159	188	879	5	175.8
177	Xavier Newell	11-470144	McKendree University V	0	196	249	205	225	875	4	218.8
178	Caden Faust	25-6858	Rio Grande ,University Of V	161	203	188	176	146	874	5	174.8
179	Brent Purugganan	18-21054	Arizona State University JV1	145	168	181	178	199	871	5	174.2
180	Jesse Bernot	20-37415	St. Vincent College JV1	163	188	169	187	161	868	5	173.6
181	Timothy Blackburn	9117-1838	San Jose State University JV1	184	170	181	147	182	864	5	172.8
182	Mason Doan	7914-33698	Calumet College Of St. Joseph V	188	0	191	267	213	859	4	214.8
183	Carter Schwiesow	19-21879	Baker University JV1	0	237	226	202	192	857	4	214.3
184	Jacob Gunther	11-473295	St. Francis (IL) ,University Of V	0	229	209	196	222	856	4	214
185	Landon Kegley	15-71947	Wittenberg University V	144	181	181	175	175	856	5	171.2
186	Matthew Throne	19-14311	San Jose State University JV1	166	167	130	207	182	852	5	170.4
187	Haden Barbee	11-29144	Drury University V	155	178	157	192	169	851	5	170.2
188	James Weber	23-9534	Oklahoma State University V	175	196	162	179	139	851	5	170.2
189	Markell Farol	8014-131138	Nevada-Las Vegas ,University Of JV1	183	201	119	150	198	851	5	170.2
190	Zachary Vanderpool	11-402180	McKendree University V	0	233	234	201	182	850	4	212.5
191	Jaycob Felder	19-85782	Drury University V	199	195	166	159	130	849	5	169.8
192	Keegan Alexander	11-438096	Mount Mercy University V	245	258	173	0	171	847	4	211.8
193	Michael Saxton	19-51017	Midland University V	0	195	212	215	224	846	4	211.5
194	Giovanni Melendez	22-79632	West Texas A&M University V	222	174	155	135	158	844	5	168.8
195	Kyle VanEss	21-86401	Davenport University V	0	226	220	191	206	843	4	210.8
196	Ethan VanDerSlik	11-667550	Oklahoma Christian University V	0	212	237	193	200	842	4	210.5
197	Traeten Henrichsmeyer	11-112685	Wichita State University V	0	233	224	183	202	842	4	210.5
198	Aaron Coleman	11-334056	Texas A&M University V	159	164	204	122	191	840	5	168
199	Jacob Moravcik	11-404173	Muskingum University V	236	203	200	200	0	839	4	209.8
200	Joshua Sachs	11-503194	Purdue University V	289	174	202	174	0	839	4	209.8
201	Donald Simpkins	11-707113	Calumet College Of St. Joseph V	0	236	200	186	216	838	4	209.5
202	Sandler Wiekamp	11-720940	Morningside University V	0	183	202	217	231	833	4	208.3
203	Zackary Sisk	11-402783	Trine University V	0	183	191	221	236	831	4	207.8
204	Jack Konrad	7914-39474	Purdue University V	193	225	178	0	225	821	4	205.3
205	Tyler Close	16-120900	St. Ambrose University V	0	190	188	206	236	820	4	205
206	Jeremy Phillips	17-33223	St. Vincent College JV1	177	145	178	164	154	818	5	163.6
207	Nicholas Debich	15-104064	St. Vincent College JV1	141	190	179	162	145	817	5	163.4
208	Aidan Baker	11-553047	Kansas ,University Of V	167	161	150	155	182	815	5	163
209	Alec Forester	22-45899	Missouri Baptist University V	0	207	192	207	207	813	4	203.3
210	Gage Boren	17-13554	Baker University JV1	231	209	200	171	0	811	4	202.8
211	James Gatto	18-72011	St. Vincent College V	131	0	235	243	202	811	4	202.8
212	Brennan Heck	21-67307	Coe College V	211	176	0	247	176	810	4	202.5
213	Lincoln LeFevre	23-58931	Nevada-Las Vegas ,University Of JV1	0	185	211	255	157	808	4	202
214	Mike Wallace	8833-71401	Ottawa University (AZ) V	178	178	162	152	137	807	5	161.4
215	Conner Weston	19-66589	Davenport University V	193	247	206	158	0	804	4	201
216	Joshua Cooley	15-22821	St. Vincent College JV1	195	181	137	131	158	802	5	160.4
217	Alec Sundberg	19-76628	Hastings College V	225	203	190	179	0	797	4	199.3
218	Hans Soriano	24-31684	California State University-Fullerton V	171	168	192	151	115	797	5	159.4
219	Jacob Lemaster	15-178166	Rio Grande ,University Of V	156	153	224	127	137	797	5	159.4
220	Jonathan Waggoner	19-37353	Capital University V	0	193	231	212	161	797	4	199.3
221	Keaton Ostrowski	11-711149	Mount Mercy University V	204	192	227	174	0	797	4	199.3
222	Chaycen Cabanas	22-47821	Ottawa University (AZ) V	172	136	128	173	187	796	5	159.2
223	David Brock	11-399731	Emmanuel University V	212	210	171	0	200	793	4	198.3
224	Jason Rabina	7823-293861	California-Davis ,University Of V	150	161	177	142	162	792	5	158.4
225	Kevin Myers	8970-199542	San Jose State University JV1	0	190	224	186	191	791	4	197.8
226	Blake Hansen	11-380934	Wisc.-Whitewater V	0	182	217	189	201	789	4	197.3
227	Stephen Connor	20-59491	Dallas Baptist University V	145	0	221	191	224	781	4	195.3

228	Chase Wensel	20-31753	Trine University V	180	0	178	195	224	777	4	194.3
229	Ari Tishman	25-7553	Baker University V	243	153	0	208	172	776	4	194
230	Chad Gali	19-67354	Nevada-Las Vegas ,University Of V	0	203	197	189	185	774	4	193.5
231	Dale Klika	7914-29030	Purdue University V	217	182	0	195	180	774	4	193.5
232	Miguel Acosta	22-27260	California State University-Fresno V	210	201	174	0	187	772	4	193
233	Timothy Eggert	7825-595052	Arizona State University JV1	156	0	231	204	179	770	4	192.5
234	Jackson Hill	23-6790	Wittenberg University V	144	141	125	159	200	769	5	153.8
235	Bryant Griffith	11-349213	Calumet College Of St. Joseph V	181	0	193	189	203	766	4	191.5
236	Joseph Enderle	18-65299	Ottawa University (KS) V	199	203	222	140	0	764	4	191
237	Raul Saenz	8108-117038	California-Davis ,University Of JV1	190	110	124	180	159	763	5	152.6
238	Charlie Johnson	20-4861	Davenport University V	176	204	200	181	0	761	4	190.3
239	Devon Kiessling	7914-8913	Indiana Wesleyan University V	236	192	150	0	182	760	4	190
240	Josuah Cook	11-620472	Emmanuel University V	0	187	211	202	158	758	4	189.5
241	Ryan Eddington	25-9574	Ottawa University (AZ) V	141	170	95	206	145	757	5	151.4
242	Ben Kuehner	11-586093	Indiana Wesleyan University V	0	189	190	187	190	756	4	189
243	Brian Henry	18-87248	Rochester University V	240	176	168	0	168	752	4	188
244	Jackson Yamashita	20-42059	Weber State University V	169	163	0	224	196	752	4	188
245	Joseph Napierkowski	11-683758	Webber International University V	253	160	0	154	183	750	4	187.5
246	Neil Weinstein	15-51262	California State University-Fresno V	209	185	179	176	0	749	4	187.3
247	Ethan Lester	11-422293	Hastings College V	172	212	202	158	0	744	4	186
248	Darren Zombro	8985-4623	McKendree University V	181	189	180	0	192	742	4	185.5
249	Jesse Holtcamp	11-467821	Ottawa University (KS) V	168	184	212	176	0	740	4	185
250	Garrett Gonzalez	8108-116806	California State University-Fullerton V	159	182	151	128	119	739	5	147.8
251	Trayton Cherry	8845-27874	Drury University V	185	213	170	168	0	736	4	184
252	Cameron Shockey	11-610505	Milligan University V	200	193	179	163	0	735	4	183.8
253	Nicholas Dorn	11-611170	California State University-Fresno V	0	205	155	192	179	731	4	182.8
254	Jade Walters	16-58487	Washington, University Of V	215	170	162	0	182	729	4	182.3
255	Jacob Snyder	23-70631	Capital University V	147	0	210	196	174	727	4	181.8
256	Caden Meliska	11-223600	Arizona State University JV1	140	0	246	168	171	725	4	181.3
257	Nicholas Hepler	11-412523	St. Vincent College V	158	164	0	170	233	725	4	181.3
258	Joel Martin	25-22626	Wittenberg University V	150	132	126	170	133	711	5	142.2
259	Liam Bakalich	7914-21927	Grand Canyon University V	0	0	211	241	259	711	3	237
260	Diego Razo	11-384405	Texas-San Antonio ,University Of V	206	137	0	160	201	704	4	176
261	Mikayla Boyd	15-107638	Washington, University Of JV1	176	170	171	187	0	704	4	176
262	Tyler Latunski	19-51548	Davenport University JV1	191	169	0	152	190	702	4	175.5
263	Grant Pendergraft	19-18581	Louisiana State University V	143	213	148	0	195	699	4	174.8
264	Zach Adams	25-21781	Weber State University V	136	103	176	158	126	699	5	139.8
265	Brock Alderson	11-146991	William Penn University V	176	181	157	176	0	690	4	172.5
266	Marquez Vigil	7914-32154	California-Davis ,University Of JV1	0	162	177	190	159	688	4	172
267	Hunter Noteboom	19-21662	Morningside University V	175	158	166	188	0	687	4	171.8
268	Nolan Matz	19-35288	Rochester University V	184	203	173	121	0	681	4	170.3
269	Bryan Kaid Malone	22-83475	Oklahoma State University V	161	210	145	0	147	663	4	165.8
270	Caden Chavez	23-19741	West Texas A&M University V	0	171	169	132	191	663	4	165.8
271	Ethan McMillan	22-45034	Kansas ,University Of V	0	156	201	165	137	659	4	164.8
272	James Kruschke	21-82262	Wisc.-Oshkosh V	196	138	0	165	160	659	4	164.8
273	Bryan Zeutenhorst	11-714636	Washington, University Of V	0	168	193	143	153	657	4	164.3
274	James Bennett	11-735700	Webber International University V	0	0	210	227	220	657	3	219
275	Evan Choi	22-88511	Nebraska ,University Of V	183	178	141	0	150	652	4	163
276	Ashlee Senda	23-28693	Washington, University Of JV1	191	165	156	139	0	651	4	162.8
277	Landon Thomas	19-62608	Indiana Wesleyan University V	0	259	211	178	0	648	3	216
278	Parker Kisch	22-42849	Morningside University V	162	185	153	0	141	641	4	160.3
279	Amen Traudt	22-21520	Wittenberg University V	122	128	100	158	132	640	5	128
280	Kenny Haslip	16-50716	Northwestern Ohio ,University Of V	0	0	203	203	225	631	3	210.3
281	Joshua Collins	11-634758	Louisiana State University V	121	0	159	169	180	629	4	157.3
282	Camden Malott	11-219343	Indiana Wesleyan University V	158	0	0	233	234	625	3	208.3
283	Jason Isa	7824-399858	Washington, University Of JV1	188	156	166	114	0	624	4	156
284	Connor Jahn	21-82289	Newman University V	0	0	203	206	204	613	3	204.3
285	Jacob Higeons	25-10961	Oklahoma State University V	148	202	149	114	0	613	4	153.3
286	Guyshon Moore	11-545360	Coe College V	161	0	0	225	226	612	3	204
287	Jake Diaz	11-671281	Purdue University V	211	223	176	0	0	610	3	203.3
288	Kevin Lewis	22-96217	California State University-Fullerton V	146	170	171	0	120	607	4	151.8
289	Tom Burns	7914-8964	St. Ambrose University V	196	231	180	0	0	607	3	202.3
290	Andrew Ruzicka	22-36651	Kansas State University V	179	157	140	130	0	606	4	151.5
291	Trevor Pense	17-10263	McKendree University V	180	0	0	204	216	600	3	200
292	Jairen Galo	8014-131538	Nevada-Las Vegas ,University Of JV1	191	215	190	0	0	596	3	198.7
293	Leonardo Morales	24-37099	Davenport University JV1	122	0	149	162	162	595	4	148.8
294	Myles Etherington	21-53110	Southern Nazarene University V	226	181	188	0	0	595	3	198.3
295	Richard Garrett	17-22857	Waldorf University V	0	0	190	200	204	594	3	198
296	Austin Rallison	25-21792	Weber State University V	0	145	155	158	134	592	4	148
297	Jayson Tram	22-39200	San Jose State University V	0	0	203	163	226	592	3	197.3
298	Andrew Rossini	17-39547	Saint Xavier University V	0	0	205	201	181	587	3	195.7
299	Omar Acuirre Moreno	24-1216	Baker University V	0	0	154	245	188	587	3	195.7
300	Cody Trusner	24-18472	California-Davis ,University Of JV1	123	0	147	169	146	585	4	146.3
301	Brody Miller	22-101709	Grand Canyon University JV1	0	220	204	156	0	580	3	193.3
302	Bryce Cady	11-464684	Coe College V	139	0	0	221	220	580	3	193.3
303	Michael Wagoner	8869-1526	Emmanuel University V	148	0	0	218	212	578	3	192.7
304	Lucas Dolphin	11-512961	Coe College V	0	0	190	212	172	574	3	191.3
305	Dylan Holtz	21-81560	St. Francis (IL) ,University Of V	0	0	180	190	203	573	3	191
306	Hunter Whitlock	21-15278	Northwestern Ohio ,University Of V	191	222	149	0	0	562	3	187.3
307	Brayden Schmieding	17-42184	Hastings College V	0	219	180	159	0	558	3	186

308	James Stubbs	11-55807	Wartburg College V	0	0	182	213	161	556	3	185.3
309	Eli VanMeter	11-252190	Northwestern Ohio ,University Of V	0	158	0	189	207	554	3	184.7
310	Jonah Fisher	22-44752	Missouri Baptist University V	185	206	163	0	0	554	3	184.7
311	Noah Barranco	11-427846	Grand Canyon University V	188	189	175	0	0	552	3	184
312	Liam Buchanan	20-47441	Emmanuel University V	0	201	189	160	0	550	3	183.3
313	Lonnie Hampe	15-198085	Kansas State University V	150	0	140	153	107	550	4	137.5
314	Edgar Burgos	11-116254	Webber International University V	0	0	190	190	166	546	3	182
315	Jacob Willard	15-47117	Muskingum University V	223	162	159	0	0	544	3	181.3
316	Thomas Kradenpoh	19-34951	Cleary University V	0	0	161	223	160	544	3	181.3
317	Adam Coval	24-15048	Davenport University JV1	0	182	242	116	0	540	3	180
318	Jerrad Barczynsyn	19-12501	Grand Canyon University V	217	130	0	0	193	540	3	180
319	Dylan Terada	15-109092	Southern Nazarene University V	159	0	0	183	196	538	3	179.3
320	Caleb Mc Donald	19-13885	Milligan University V	192	145	0	0	200	537	3	179
321	Noa Santos	25-26460	San Jose State University V	0	194	184	158	0	536	3	178.7
322	Zacharey Cornell	19-22643	Wisc.-Oshkosh V	171	152	0	0	210	533	3	177.7
323	Cody Adams	11-664926	Coe College V	166	195	170	0	0	531	3	177
324	Crew Jones	22-77955	Oregon State University V	0	0	172	169	189	530	3	176.7
325	Alexander Miller	19-84013	Rochester University V	181	146	0	0	201	528	3	176
326	Aiden Shellenberger	7825-626809	Weber State University V	135	0	154	104	134	527	4	131.8
327	Dale Horstmann	17-91945	McKendree University V	167	0	226	134	0	527	3	175.7
328	Joshua Carrillo	15-195338	Dallas Baptist University V	0	198	169	156	0	523	3	174.3
329	Chace Mohrhauser	11-666678	Morningside University V	0	149	213	149	0	511	3	170.3
330	Forrest Lanning	7823-288576	Louisiana State University V	145	0	0	185	180	510	3	170
331	Tyler Lacher-Hambor	11-49205	Waldorf University V	193	139	0	178	0	510	3	170
332	Alexander Uranga	21-83395	Davenport University JV1	0	156	0	210	143	509	3	169.7
333	Louis Schultz	23-62781	Wisc.-Oshkosh V	156	0	198	155	0	509	3	169.7
334	Diana Hear	15-198572	Nevada-Las Vegas ,University Of JV1	0	0	158	156	192	506	3	168.7
335	Jacob Duhon	18-97899	Louisiana State University V	0	166	184	156	0	506	3	168.7
336	Fletcher Hovendick	22-14051	Nebraska ,University Of V	0	169	209	125	0	503	3	167.7
337	Lance Starks	16-111340	Missouri Baptist University V	151	0	0	181	169	501	3	167
338	Ethan Blanchard	18-85088	Louisiana State University V	0	154	160	0	183	497	3	165.7
339	Mark Chong	25-34059	Washington, University Of JV1	135	172	0	190	0	497	3	165.7
340	Tyler Koehn	7823-230024	Cleary University V	167	150	0	0	180	497	3	165.7
341	Jacob McGough	11-205568	California State University-Fullerton V	0	182	180	130	0	492	3	164
342	Daniel Mast	7914-5149	Rio Grande ,University Of V	124	0	0	202	159	485	3	161.7
343	Simon McLaren-Housworth	22-90879	Baker University JV1	149	0	0	180	156	485	3	161.7
344	Karsten Poyser	19-76988	Grand Canyon University JV1	145	0	0	182	157	484	3	161.3
345	Carter VanOpdorp	21-53774	Nebraska ,University Of V	178	174	131	0	0	483	3	161
346	Ryan Kim	24-27586	Washington, University Of JV1	132	0	138	210	0	480	3	160
347	Jayson Spendlove	7825-626999	Weber State University V	158	169	152	0	0	479	3	159.7
348	Nathan Do	24-27582	Washington, University Of V	137	0	0	178	157	472	3	157.3
349	Jake Newsum	11-687766	Oregon State University V	183	133	0	0	155	471	3	157
350	Elliott Matelski	23-23276	Davenport University JV1	137	0	183	0	147	467	3	155.7
351	Jacob Pennington	22-5856	Kansas ,University Of V	145	0	0	147	175	467	3	155.7
352	Stephen Berry	25-17018	West Texas A&M University V	156	0	148	0	162	466	3	155.3
353	Vinson Liu	7824-413867	Washington, University Of V	156	0	174	133	0	463	3	154.3
354	Lucas Hersrud	11-407936	St. Ambrose University V	0	0	0	243	217	460	2	230
355	Connor Mueller	17-62221	Wisc.-Oshkosh V	0	182	129	0	147	458	3	152.7
356	Christian Crockett	25-10933	Oklahoma State University V	0	149	0	153	150	452	3	150.7
357	Seth Crump	23-56898	West Texas A&M University V	169	152	0	129	0	450	3	150
358	Donna Michaelson	16-94686	Arizona State University JV1	0	125	0	164	147	436	3	145.3
359	Brayden Alfrey	11-184327	Purdue University V	0	0	0	209	226	435	2	217.5
360	Joseph Spagnola	18-68779	Webber International University V	0	190	237	0	0	427	2	213.5
361	Kenji London	15-50179	Ottawa University (KS) V	0	0	0	185	232	417	2	208.5
362	Zack Wassam	11-398920	Dallas Baptist University V	169	0	0	0	247	416	2	208
363	Anthony Lizzio	11-544965	St. Francis (IL) ,University Of V	201	213	0	0	0	414	2	207
364	Landon McConnell	17-84832	Southern Nazarene University V	0	0	0	203	203	406	2	203
365	John Francis	8293-58383	Purdue University V	0	0	0	204	200	404	2	202
366	Alexis Wuestewald	11-626566	Nebraska ,University Of V	0	0	0	171	221	392	2	196
367	Brandon Bohn	11-258258	Webber International University V	210	178	0	0	0	388	2	194
368	Trevor Fisher	11-573954	Morningside University V	0	0	0	192	190	382	2	191
369	Keaten Bieri	11-499974	St. Ambrose University V	0	0	218	159	0	377	2	188.5
370	Andru Blaney	11-411615	Mount Mercy University V	0	0	0	217	157	374	2	187
371	Devin Richards	9037-32556	St. Ambrose University V	147	0	0	0	223	370	2	185
372	Bobby Stegman	19-49526	Capital University V	199	169	0	0	0	368	2	184
373	Jacob Lehn	11-459644	Muskingum University V	0	0	0	190	177	367	2	183.5
374	Tyler Kelly	17-56407	Davenport University V	151	0	0	0	216	367	2	183.5
375	Brayden Colon	19-47841	Oklahoma State University V	0	0	0	160	206	366	2	183
376	Wyatt Craig	22-41541	Waldorf University V	195	171	0	0	0	366	2	183
377	Lucas Finley	11-409244	St. Ambrose University V	215	148	0	0	0	363	2	181.5
378	Sonny Carrick	15-8306	Coe College V	0	192	169	0	0	361	2	180.5
379	Memphis Ling	15-134651	Savannah College Of Art And Design-	183	0	0	176	0	359	2	179.5
380	Aaron La	25-26459	San Jose State University JV1	181	0	0	0	176	357	2	178.5
381	Ethan Lindsey	11-91473	Davenport University JV1	178	179	0	0	0	357	2	178.5
382	Jimmie Bradley	11-374433	Hastings College V	146	0	0	0	211	357	2	178.5
383	Carter Harris	21-88479	Rochester University V	0	0	0	176	178	354	2	177
384	Justin Weddige	16-124170	Ottawa University (KS) V	130	0	0	0	224	354	2	177
385	Peter (PJ) Dokolas	11-732107	Baker University JV1	0	182	172	0	0	354	2	177
386	Dakota Harris	5816-1477	Coe College V	0	202	151	0	0	353	2	176.5
387	Kalin Ogata	7914-24647	Newman University V	178	174	0	0	0	352	2	176

388	Johnny Legere	16-146116	Milligan University V	0	0	0	177	172	349	2	174.5
389	Maxx Reece	22-90216	Rochester University V	0	0	179	165	0	344	2	172
390	Avery Li	25-23712	California-Davis ,University Of JV1	205	138	0	0	0	343	2	171.5
391	Colby Spear	22-79404	Oregon State University V	0	0	154	189	0	343	2	171.5
392	Matthew Dieterich	16-54002	Baker University JV1	165	0	0	0	177	342	2	171
393	Cortlyn Hetrick	19-37772	St. Vincent College V	0	197	143	0	0	340	2	170
394	Tre Preston	11-513059	Ottawa University (KS) V	0	181	158	0	0	339	2	169.5
395	Brenden Lewis	20-30131	Morningside University V	158	0	0	0	179	337	2	168.5
396	Justin Seto	21-95050	San Jose State University V	184	153	0	0	0	337	2	168.5
397	Merik Candella	11-541741	Rio Grande ,University Of V	0	187	150	0	0	337	2	168.5
398	Tyler Richter	11-413075	Wartburg College V	170	166	0	0	0	336	2	168
399	Joshua Quass	11-400668	Nebraska ,University Of V	0	0	0	178	154	332	2	166
400	Zach Kunkle	7914-47633	Ottawa University (KS) V	148	0	0	0	184	332	2	166
401	Joseph Blonski	21-90278	Saint Xavier University V	169	0	0	0	159	328	2	164
402	Peyton Bray	18-44673	Savannah College Of Art And Design-,	0	188	140	0	0	328	2	164
403	Kaiden Klebba	23-29804	Louisiana State University V	167	159	0	0	0	326	2	163
404	Parker Berg	21-64687	Nevada-Las Vegas ,University Of JV1	156	0	0	0	167	323	2	161.5
405	Alex Deane	16-165830	Kansas ,University Of V	160	162	0	0	0	322	2	161
406	Howard Hammond	16-126458	Cleary University V	175	144	0	0	0	319	2	159.5
407	Andrew Gibbons	22-36178	Arizona State University V	145	0	0	172	0	317	2	158.5
408	Caleb Koeller	8193-116196	Arizona State University JV1	196	120	0	0	0	316	2	158
409	Amanda Henderson	11-564179	Arizona State University JV1	0	156	157	0	0	313	2	156.5
410	Joshua King	18-43056	Baker University V	160	0	153	0	0	313	2	156.5
411	Leoangelo Salcedo	17-44494	Nevada-Las Vegas ,University Of JV1	166	136	0	0	0	302	2	151
412	Braxton Mischke	23-9539	Kansas State University V	0	171	0	0	124	295	2	147.5
413	Ryan Trinh	22-92559	San Jose State University JV1	153	0	141	0	0	294	2	147
414	Zachary Howe	16-42430	Grand Canyon University JV1	149	0	0	0	143	292	2	146
415	Jacob Berger	18-99251	Oregon State University V	155	135	0	0	0	290	2	145
416	Sunny Nguyen	7823-314186	California State University-Fullerton V	0	0	0	153	110	263	2	131.5
417	Jackson Peterman	24-49837	Oklahoma State University V	146	0	116	0	0	262	2	131
418	Clyde Johnson	11-642348	Savannah College Of Art And Design-,	0	0	0	0	245	245	1	245
419	Logan Krupinski	21-80262	Purdue University V	0	0	229	0	0	229	1	229
420	Hannah Santiago	25-26781	Washington, University Of JV1	0	132	96	0	0	228	2	114
421	Daniel Grewell	22-81405	Davenport University V	0	0	0	0	221	221	1	221
422	Lucas Krause	15-29510	California State University-Fresno V	0	0	0	0	215	215	1	215
423	Robert Vater	16-146179	Mount Mercy University V	0	0	0	0	213	213	1	213
424	Drew Johnson	17-55842	Muskingum University V	0	0	0	0	212	212	1	212
425	Kevin Brown	11-231885	Webber International University V	203	0	0	0	0	203	1	203
426	Raymond Cyr	11-526752	Calumet College Of St. Joseph V	0	192	0	0	0	192	1	192
427	David Gilliam	15-123716	Calumet College Of St. Joseph V	187	0	0	0	0	187	1	187
428	Bradon West	11-385001	McKendree University V	182	0	0	0	0	182	1	182
429	Ethan Ziegrowsky	11-92567	William Penn University V	0	0	0	0	182	182	1	182
430	Brett Maciejewski	8572-18425	McKendree University V	0	181	0	0	0	181	1	181
431	Addison Johnson	17-28711	Midland University V	180	0	0	0	0	180	1	180
432	Easton Schwartz	17-8967	Waldorf University V	0	0	0	0	180	180	1	180
433	KeShaun Johnson	11-457749	Arizona State University V	0	0	0	0	179	179	1	179
434	Gabriel Mejia-Wick	7914-32282	St. Francis (IL) ,University Of V	177	0	0	0	0	177	1	177
435	Jackson Clark	11-437055	Trine University V	176	0	0	0	0	176	1	176
436	Garrett Kelsay	21-62140	Arizona State University V	0	174	0	0	0	174	1	174
437	Jacob Chouinard	19-57735	Cleary University V	0	0	0	174	0	174	1	174
438	William Perrett	21-38703	Southern Nazarene University V	0	174	0	0	0	174	1	174
439	Dayden Koback	15-160896	Baker University V	0	172	0	0	0	172	1	172
440	Ethan Radcliff	18-47129	Oklahoma Christian University V	172	0	0	0	0	172	1	172
441	Joshua Yoho	24-43476	Texas-San Antonio ,University Of V	0	0	172	0	0	172	1	172
442	Michael Arguel	18-19953	San Jose State University V	0	0	0	0	171	171	1	171
443	Ramiro Garcia	11-392499	Calumet College Of St. Joseph V	0	169	0	0	0	169	1	169
444	Blake Attig	11-353111	Trine University V	0	168	0	0	0	168	1	168
445	Joseph Golo	15-164985	Grand Canyon University JV1	0	0	168	0	0	168	1	168
446	Benjamin Hibbard	17-49742	Nebraska ,University Of V	165	0	0	0	0	165	1	165
447	Jyles Matthews	11-493871	Northwestern Ohio ,University Of V	164	0	0	0	0	164	1	164
448	Andrew Berger	11-490666	San Jose State University V	161	0	0	0	0	161	1	161
449	Bladyn Hogan	6197-356	Hastings College V	0	0	0	0	160	160	1	160
450	Caden Ament	19-32004	Arizona State University V	0	0	160	0	0	160	1	160
451	Isaac Bayless	9804-7135	Wisc.-Oshkosh V	0	0	0	159	0	159	1	159
452	Andrew Plotz	11-544556	Wisc.-Oshkosh V	0	0	158	0	0	158	1	158
453	Elliot Guidry	11-435364	Waldorf University V	0	0	158	0	0	158	1	158
454	Devin Dorris	11-416316	Davenport University JV1	0	0	157	0	0	157	1	157
455	Justin Cataag	19-32709	Nevada-Las Vegas ,University Of V	157	0	0	0	0	157	1	157
456	Kevin Hammons	11-207092	California State University-Fresno V	156	0	0	0	0	156	1	156
457	Aidan Gansert	20-25714	Indiana Wesleyan University V	153	0	0	0	0	153	1	153
458	Connor Fleming	11-151757	Wichita State University V	153	0	0	0	0	153	1	153
459	Manumaleuna Mamea	24-27580	Washington, University Of V	0	153	0	0	0	153	1	153
460	Christian Schmadeke	11-386701	Morningside University V	152	0	0	0	0	152	1	152
461	Ethan Young	17-54511	Grand Canyon University V	0	0	0	152	0	152	1	152
462	Henry Elms	22-73976	Kansas ,University Of V	0	0	152	0	0	152	1	152
463	Alexander Stephens	16-14362	Milligan University V	0	0	151	0	0	151	1	151
464	Seth Haney	9967-2432	Dallas Baptist University V	0	151	0	0	0	151	1	151
465	Cody Patterson	11-760180	California State University-Fresno V	0	0	0	150	0	150	1	150
466	Connor Anderson	16-128633	Wisc.-Whitewater V	149	0	0	0	0	149	1	149
467	Gabriel Rush	11-696585	Southern Nazarene University V	0	0	148	0	0	148	1	148

468	Max Brown	17-58727	Grand Canyon University JV1	0	148	0	0	0	148	1	148
469	Colin Jaster	11-436865	Hastings College V	0	0	0	0	143	143	1	143
470	Spencer Mosher	11-740997	Saint Xavier University V	0	138	0	0	0	138	1	138
471	Lincoln Havner	24-25264	Drury University V	0	0	0	0	137	137	1	137
472	Joseph Agustin	22-5841	Emmanuel University V	136	0	0	0	0	136	1	136
473	Beau Johnson	16-172298	Louisiana State University V	0	0	0	132	0	132	1	132
474	Terrence Mooc	7823-286092	San Jose State University JV1	0	132	0	0	0	132	1	132
475	Alyssa Rodriguez	8108-118312	California State University-Fullerton V	125	0	0	0	0	125	1	125
476	Hunter Blackhurst	11-443862	Cleary University V	0	0	123	0	0	123	1	123
477	Justin Duong	24-20890	San Jose State University JV1	0	0	0	123	0	123	1	123
478	Matthew Maren	8014-131686	Nevada-Las Vegas ,University Of JV1	0	0	0	114	0	114	1	114
479	Andrew Stewart	22-14064	Tennessee Wesleyan University V	0	0	0	0	0	0	0	0
480	Avram Savage	19-47781	St. Francis (IL) ,University Of V	0	0	0	0	0	0	0	0
481	Braden Longenecker	16-126973	Newman University V	0	0	0	0	0	0	0	0
482	Bradley Kleier	7823-282447	Oklahoma Christian University V	0	0	0	0	0	0	0	0
483	Brandon Caruso	11-719521	Wichita State University V	0	0	0	0	0	0	0	0
484	Cameron Lietch	21-80238	Drury University V	0	0	0	0	0	0	0	0
485	Christian Knowles	11-508664	Savannah College Of Art And Design-	0	0	0	0	0	0	0	0
486	Christopher Taliva'a	20-61940	Midland University V	0	0	0	0	0	0	0	0
487	Cody Doke	11-589392	Indiana Wesleyan University V	0	0	0	0	0	0	0	0
488	Cole Macaluso	11-429461	Midland University V	0	0	0	0	0	0	0	0
489	Connor Mooney	11-687658	Newman University V	0	0	0	0	0	0	0	0
490	Devyn Schaper	23-68991	Baker University JV1	0	0	0	0	0	0	0	0
491	Dylan Alvarado	11-440138	Saint Xavier University V	0	0	0	0	0	0	0	0
492	Edwin Ortiz	22-25061	Ohio State University V	0	0	0	0	0	0	0	0
493	Eric Torento	8014-130079	Nevada-Las Vegas ,University Of V	0	0	0	0	0	0	0	0
494	Graham Solon	8669-20463	Weber State University V	0	0	0	0	0	0	0	0
495	Jacob Wilson	19-57313	Dallas Baptist University V	0	0	0	0	0	0	0	0
496	James Bennett	18-52896	Missouri Baptist University V	0	0	0	0	0	0	0	0
497	Jamison Porath	9854-739	Wartburg College V	0	0	0	0	0	0	0	0
498	Jeffrey Swisher	11-407035	Emmanuel University V	0	0	0	0	0	0	0	0
499	John Jacobs	7914-17079	Muskingum University V	0	0	0	0	0	0	0	0
500	Juan Canez	15-53882	Grand Canyon University V	0	0	0	0	0	0	0	0
501	Kenneth Domingo	8014-131137	Nevada-Las Vegas ,University Of V	0	0	0	0	0	0	0	0
502	Lucas Newman	19-40257	William Penn University V	0	0	0	0	0	0	0	0
503	Luke Chapman	19-63910	Oklahoma Christian University V	0	0	0	0	0	0	0	0
504	Luke Switalski	15-164205	Mount Mercy University V	0	0	0	0	0	0	0	0
505	Luke Winter	17-102066	Wisc.-Whitewater V	0	0	0	0	0	0	0	0
506	Matthew Coppola	11-687603	Milligan University V	0	0	0	0	0	0	0	0
507	Matthew Spicer	16-14036	Tennessee Wesleyan University V	0	0	0	0	0	0	0	0
508	Mohammed Al Khulaifi	7824-494968	Oregon State University V	0	0	0	0	0	0	0	0
509	Nehemiah Bachmann	18-47951	Rochester University V	0	0	0	0	0	0	0	0
510	Nicholas Sachs	11-503197	Wisc.-Whitewater V	0	0	0	0	0	0	0	0
511	Noah Kidwell	15-76525	William Penn University V	0	0	0	0	0	0	0	0
512	Samuel Woolworth	7914-47719	Davenport University V	0	0	0	0	0	0	0	0
513	Sean Gallagher	7914-13443	Ohio State University V	0	0	0	0	0	0	0	0
514	Seth Corbin	21-37841	Texas A&M University V	0	0	0	0	0	0	0	0
515	Shaun Lonergan	21-61935	Wartburg College V	0	0	0	0	0	0	0	0
516	Steven Bowman	15-151787	Texas-San Antonio ,University Of V	0	0	0	0	0	0	0	0
517	Tate Gray	17-99077	Tennessee Wesleyan University V	0	0	0	0	0	0	0	0
518	William Smith	15-84991	Trine University V	0	0	0	0	0	0	0	0
519	Xavier Martinez	20-58626	Texas-San Antonio ,University Of V	0	0	0	0	0	0	0	0
520			Arizona State University V						0	0	0
521			Arizona State University V						0	0	0
522			Arizona State University V						0	0	0
523			V	0	0	0	0	0	0	0	0
524			Baker University V						0	0	0
525			Baker University V						0	0	0
526			Baker University V						0	0	0
527			California State University-Fresno V						0	0	0
528			California State University-Fresno V						0	0	0
529			California State University-Fresno V						0	0	0
530			V	0	0	0	0	0	0	0	0
531			California State University-Fullerton V						0	0	0
532			California State University-Fullerton V						0	0	0
533			California State University-Fullerton V						0	0	0
534			V	0	0	0	0	0	0	0	0
535			V	0	0	0	0	0	0	0	0
536			V	0	0	0	0	0	0	0	0
537			California-Davis ,University Of V						0	0	0
538			California-Davis ,University Of V						0	0	0
539			California-Davis ,University Of V						0	0	0
540			Calumet College Of St. Joseph V						0	0	0
541			Calumet College Of St. Joseph V						0	0	0
542			Calumet College Of St. Joseph V						0	0	0
543			V	0	0	0	0	0	0	0	0
544			V	0	0	0	0	0	0	0	0
545			Capital University V						0	0	0
546			Capital University V						0	0	0
547			Capital University V						0	0	0